kﬂ/f' Annual Survey on Industries - 1986 \
|- . Ihe Edit Checks o :
N o 1. Serial number should be unique. Iast two digits of the serial
i number should be in the range of 00-99. Y
‘//2. District code must be present & lie in the range 01-24 ‘and should
‘be equal to 1st two digits of serial number., <~
\//3. Electorate code musf present and lie in the range 001=-160, v
E \\ 4. Ward/G.S.Division and 4.G.A. must be presentsand must be in
f“ accordance with the given District - Code List.
(-
/ Se 17.¢/U.C. code must be in accordance ‘with the district code list
/ if present. v/ )
| - /6, Tndustry (ISIC) four cigit code must be pressnt and should be
\_ one in the given list. \
,]‘ ‘V/77. Industrial sector must be in the range 1-5. ~
/
I - .
/ 8. Tn questions 13,14,15,16 & 17 if any field is present then
k' it should be numeric.
. Y 4
VACE '
3 _ - 9. (a) In 13(i), If 8 digit industry code is present, then it
. should correspond to one in the given commodity code list and
\ the first four digits must be the same as Industry (Is1C) four
! digit code, in question 11. v : L
% L . ol
i j
1?// (a) If q{i)s blank for any j = 1 eee..9 ’
0, vi). + xii), =~ x). 0 i
~ / T Q(FJ )3 qL'(é’«Vj, )J (f1(~ )J > : :
fOI' a-nyj = 1 00000008 . 4
\/;\\J‘ :(\: 3 ,-iq.,(vp)j ¥ Q(Xl)j - q(lx)j >O for that j " ’)8: 5,/ ; i
- PRI &y LR ) f
+ ‘l; :{ ’
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12, . for j

2 - T\

If q(l) = blank fOI‘ j = 1 eeeoc e 9,
then questlon 14 should be filled and should be positive.

1 q(1) == blank for any j = 1 eeeeces 8, q(iii) should be
present and must correspond to ones appearlng in’ the glven i

‘

product code-llst. \

If any field from q(iii) to q(xix) is present, q(i)j ‘
L
should be present,

For all ISIC 8 digit codes other than major division 2, /
if q(i)j is present, q(iv)j should be present. .

For j =1 oo-oooog, Q(iii). = blank, then Q_(i), = blank e .

s Y b 2l 200y Lt

S ’7«.}
A 'l:/(; a) q(v)a # blank, Then q(iv) ';tblank and vice ver.aa. Y

\,,(
¢

i
~7

( <"”‘ W\

/

/13., Tor ISIC major division 3, 2nd j=1 sc.ee8 .
"¢ Rej = qf{xiii). + q(xiv), + alxv), xvii). = q(xvi). - g(xviii 0
.(,EJ// e = q(xiil)y + q(xiv)y + o)y + q(avid)y - alavi)y - olavd )50

¢ 14. For J
—(a)

the corresponding figure using q(x)j = p.x q(ix). i

{If q(xi) s=blank, and q(xii)
use the formule q(xii), = p.xq(xi). where p. = q(vi),
J J d J —

6:(b) c(vn) =< blank, then r(vn&) = blank and vice versa. .
?}(c) q(v) ;;>q(v11)j oy ,\

=1 0000008 \ :bi%

If gq(ix) 3= blank, and q(x) = blank or vice versa, then compute

J
q{vi), z

! 3

|

where P.
1
(=

A

blsank or vice versa,

q(V)j

e

Contd,..pB/‘ t
B H /



15. FOI‘j =1 ceo v os 9

(2) If q(i) = blank, q(xix )a and o(wx‘)b should be present and

lie in the range 01-30.

Vv
(b) If the code q(x1x)aJ is present, the value of q(vi). , should
lie in the range corresponding to tae code in q(y1y)aa.
[P
- (e) If the code q(flx)b is present, the value in q(xii).
‘ N ' should lie in the range corresponding to the code in

(ix)b..
a( )J

IList of ranges and corresponding codes are given)

i | . e A . \
\f VAR \ 7 / [ A
16. F r j = 1 .c00008 ”){' / *
o} J f[k_uﬁ (I£ K’ [@' [)"{/d‘f'ﬂw%' 5 A \1/ ‘/
/‘H‘kiu,j’ i ik WCe Vvergte = Hwe
- (a) If R(ii) :szlank, then R(l; ’j or both should be prasent tkﬁﬂﬁﬁn
; ang Vaoe VeISa. . Ouﬂ'/aff
’ = n / ¥, - [
, A ) 'Q(///)j /wrnm)/ P(vjj 9 /L{c‘u,,\f — WL HE A g.[em[{
(b) £ R(i:i). >=Dblank, then R(iv). ;ﬁkﬂamk or vice verse
7otherwise inpute mlssmng F(_1M)4 or P\lv) as follovs:
- o)
T(iv). = D, DA P(l‘l)
- Joq
or R(iii), = — X R(lv). where
J . J
\ 3
Pj's are the midpoints of the following inequalities.
J] — ”/ ( '<
£.00 < Py < 3.00 5,00 <p7 X 8.00
/) T v
- - .
2,00« P, . 15-00 50,00 <P8 < 200,00
'./‘
-~ D
2.50 .ng X 5,00 s
o
12,00 - P4 15,00
~ <
7.00 N Py X 9.00
P
5.50 X P < 9,00 /
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(¢) If both R(iii) and k(iv), are present, check the calculated

Pj is within the above range.

- Yhere P. =
d

iR(iv).

fox‘ j = 10.00 8 e
R(iii) 07
-5 - )/c Ve ejage.
: 7 ravelid  P7T

17. /}a) Tf either T(ii) 1a or T(iii) 1a or both zre present, then
\\ N i L

T(iv) 1a should be present or vice versa.

b/(b) If either T(ii) 1b

T(iii)1b or both are present, then

T(iv) 1b should be present or vice versa.

y//(E) If'eithép m(ii) 2a 3£ blank or T(iii)Za;;f blank then va
( . T(iv);ég;ﬁiblank.
If either T(ii) ZbZblank or T(iii) 2Zbzzblank then 5,7,

m(iv) 2b 3 blank.

If either T(ii) feZblamk or T(ii:) fe=blank then 54

T(iv) 2c 3£ tlank,

Tf either T(:i) 24 =Zblank or T(iii) 2d===blank then Eﬁ%

T(iv) 2d = blank or vice versao

(¢) T= T(ii)la + T{iii)la + T(ii)1b + T(3iid1o + T(ii)2a + T(iii)2a

T#1)2b + T(3ii)2b + T(iid2c + T(iiil2c + T(ii)2d + T(i7i)

18, For all IZTC other than

2:d q(iv)j = tlank¥. use

19, Tefine (a) <Cutput

(b) OQutpus

4+ T(ii)z2 4+ T(i:

1)3 4+ T(3i)4 + T(iE3)4 S 1. ;7%_

mzjor division 2, if q(i)_.l is present
L%

the following relationship.

oliv)., = alv), a(xi). - qfix),
)3 af J+‘( )a q )a

Tuantity = Oqj

Value = 0 .
vJ

(¢) “~aw nmaterial Consumpticn ch

(d) Tnput value =1 =as follows.
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badn  FARY

(a)..0 . = a(v), + q(xi)j - g(ix) for j= 1¢....8

aj J

. f LT = - - -
b 0 . = i). xii). - q(x). for j= leeees
(v) v q(vl)J + a( )J q( )J J 9

‘ P . = q(xiii). g(xiv). + aq(xv). + xvii)., = q(xvi). - xviii),
(c) ey = alxiii)y + 3 ( )5 3 ( )J q( 5 q( )a af( )3
fOI‘ j= 1.1--.9

(@ I, = 2 R+ R(iv)

(e) 0O = 0 . +.14

—~ <
cqp (1) 7If Oqj = zero, then Ovi 7= zero or vice versa for j= l.e....8

E,/'p ‘ \ v
(2 i) £ j=leecane ) . hexrwi je
,(2) (1) for j=1 9, (‘VJ > ch’ otherwise reject

(\'i i / ~ N

Aogn — 0t (ii) © I +iT otaerwise reject o 1
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2

Tf g 14,# blank then 3 dicit T.S.T.C. Code should be present

-nd the first four digits must be the same as Tndustry (T.S.T.C)

e

n
four digit cede in question 11, folloved hy 9999

: %,

If q 14 ¢ bhlank, then raoa

shourld coryespond to the value in q 14«

o code ahould be present and it




